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General Instryctions :

Read the following instructions very carefully and strictly follow them :

) This question paper contains 38 questions. All questions are compulsory.

(i)  This question paper is divided into five Sections - A, B, C, D and E.

(iit)  In Section A, Questions no. 1 to 18 are multiple choice questions (MCQs) and

questions number 19 and 20 are Assertion-Reason based questions of 1 mark

each.

(i) In Section B, Questions no. 21 to 25 are very short answer (VSA) type
questions, carrying 2 marks each.

(v)  In Section C, Questions no. 26 to 31 are short answer (SA) type questions,

carrying 8 marks each.
(i) In Section D, Questions no. 32 to 35 are long answer (LA) type questions

carrying 5 marks each.

(vii) In Section E, Questions no. 36 to 38 are case study based questions carrying
4 marks each. Internal choice is provided in 2 marks questions in each

case-study.

(viti) There is no overall choice. However, an internal choice has been provided in
2 questions in Section B, 2 questions in Section C, 2 questions in Section D and

3 questions in Section E.

(ix)  Draw neat diagrams wherever required. Take 1 = 42-7~ wherever required, if not

stated.
(x)  Use of calculators is not allowed.

SECTION A

This section comprises multiple choice questions (M CQs) of 1 mark each.

1. The pair of linear equations x+2y-5=0 and 2x-4y+6=0:

(a) isinconsistent

(b)  is consistent with many solutions
(¢)  is consistent with a unique solution

(d) is consistent with two solutions
430/2/2 ~ Page 3 P.T.O.
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3.

4.

ﬁmﬁﬁaﬂﬁﬁmmmmﬁmﬁw 77 % awd ?

@) 05 (by H%
05

1 d)

(c) 05 14

9 sin? 30° + 3 tan2 60° — cos? 45° T AH R :

19
(a) 3V3 (b)
d 9

| ©

(c)

g T y = x 3 x = 4 g Frefa tand pw v 1 fig P ¥

y
A y=x
P
x O —> X
lx =4

yf
(a) (4,0) (b) (4, 4)
(c) (0, 4) d) (~4,4)

5. ﬁﬁﬁmﬁmh2+bx+%=0%t@mi,ﬁbmmﬁm:

(a) 0 (b) Hae -3
() %ad 3 d)  +3
430/2/2 ~aaa Page 4
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2. Which of the following numbers cannot be the probability of an event ?

(a) 05 (b) 5%
1 05
(c) - vo
05 (d) 14

3.  The value of 2 sin230° + 3 tan2 60° — cos2 45° is

19

@ 343 ®

9
( —
c) 1 d 9

4. The lines represented by the linear equations y = x and x = 4 intersect
at P. The coordinates of the point P are :

y
A y =x
P
X'« Q > X
lx = 4

yt
(@) (4,0 (b)  (4,4)
(c) (0,4) d (-4,4)

It ic equation 9x2 L '
5 he quadratic equation 9x2 + bx + ri 0 has equal roots, then the

value of bis:
(@) 0 (b)  -3only
(¢)  3only (d =3
430/2/2 ~~ Page § - P.T.O
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wmﬁfﬁwmﬁﬁmﬁwaﬁ?ﬁmﬂm:

"
Pl

a2 sig 6 S IqH UK F AW F T

. 4
(a) s (b) 'gﬁrs
(¢) 3md (d) gmﬁ

7. PR, TR plx) FAE A TR | p(x) F AR T FEA R

y
A
yANAS
X € / \ > X
:
(a) 2 (b) 3
(€ 4 @ 5

S TS % e ol e R 25 9 21 ¥ | ST W @ et

F AT 2 -
&) 27 ®) 29
(© 18 @ 22
3
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e
5
A s 2,
Solid is of the form of 4 cone of radius v’ surmounted on a hemisphere

of .
o :‘fle Same radius. If the height of the cone is the same as the diameter
1ts base, then the volume of the solid is :

@ nr? O

(C) 37[1'3 (d) %?'H'S

7. Graph of a polynomial p(x) is given in the figure. The number of zeroes of

p(x)is:
y
yZ2\VAS
X € / \ > X
L 4
yf
(a) 2 (b) 3
() 4 (d 5

8. Median and Mode of a distribution are 25 and 21 respectively. Mean of

the data using empirical relationship 1s :

(a) 27 (b) 29
29
(c) 18 d —
* 3
430/2/2 ~~~ Page 1 P.T.O.
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2
9 l-wsAwm%
4
@ 2 b) 5
5
4 @ >
(c) : 4
10. ﬁgaﬁA(z,—S)aﬂtB(s,s)ﬁvﬁsﬁm%@m,xm&ﬁ%ﬁaﬂqﬁﬁ
faanira T 8 2
(a) 2:3 b) 2:1
() 3:4 d 1:2

11. AP.:16,12,8,4,...% Y99 21 931 I I @ :
(a) —480 (b) —504

() 1176 (d -484

12. Fsw R 99 % 39 fieravs 1 dwa Rrge s a(faft d) 3, 2.

a
(a) T 2nR (b) _3%_6 x 2nR
a 2 |
©  ooxmR d) 5%6 x R 2
13. 3 72 3 234 % HOF 13 8, @ LCM (72 234) gy .
(@) 936 (b) |
836
(C) 324 (d
) 234

430/2/2  aman
Page R
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9. If tan A - 2 then the 1- cos” A
- ’ val f i8 :
5 alue o m 18
(@ 25 4
4 (b) 25
4
© 3 @ 2
10. In what ratio does x-axis divide the line segment joining the points
A(2, - 3) and B(5, 6) ?
(a) 2:3 by 2:1
(c) 3:4 d 1:2
11.  The sum of the first 21 terms of an A.P. : 16, 12, 8, 4, ..... s :
(a) —480 (b) -504
(c) 1176 (d) -484
12, The area of a sector of angle o (in degrees) of a circle with radius R is :
a a
— x2nR b ——x 2nR
(a) 50 2" (b) 360 < 2"
a 2 a 2
——xnR d ——xnR
© 180" D 607"
13. Ifthe HCF of 72 and 234 is 18, then the LCM (72, 234) is :
@ 936 () 836
() 324 (d) 234
430/2/2 ~v~ Page 9
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_ 2%]‘51:[%613{%
4. 14cmmaaqmaa.q?ﬁaémwaﬁwémﬁ 86 cm
el YR 61 = 2 :
(a) 2cm (by 1lcm
(c) 4 cm (d) 7cm
5. 52m%ﬁﬁ@ﬂ%ﬁmﬁﬁﬁ@ﬁﬁﬁmm"'”E”
S R | B T T ¥ ot 07 % agug B ot TR R
1 1
(a) ﬁ (b) 53
1 2
© o CHRE
6. 8(cosZA +sin2 A)SUs & :
(a) 1 (by O
(c) 9 (d) 8
17. =g ¥ Isdt ww gan i S 50 m ot R 3 77 @f @ 60° 1 BT FATH
2 | S &l diwn A, wan f fis 9 FEE B
(a) 50v/3 m (b) %m
50
(c) B d 25v3 m
8. %aom@fqaa@mﬁgpﬁamﬂ-m’maﬁtmﬁhﬁnﬁ13;[—;52‘%
99 QRUTH f9g T2 19 £ QPR=50° 2, 1 ~ QTR st 2 -
(aJ 500 {b) 1300
(C) 650 (d} 900
30/2/2 o N Page 10
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@

14- The Cuwed 8u

88 cm?, The dj
(a)

rface area of 5 right circular cylinder of height 14 ¢m 18

ameter of its circular base is :
2cm

(b) lcm
(c) 4 em

(d) T cm

15. A card is drawn at random from a well-shuffled deck of 52 playing cards.

The probability that it is a red king, is :
1

(a) = (b) el
13 52
1 2

(c) — —
26 @ 13

16. 8 (cos? A +sin2 A) is equal to :
(a) 1 (b) O
¢ 9 d) 8

17. The string of a kite in air is 50 m long and it makes an atfgle of 60° w:i'th
the horizontal. Assuming the string to be straight, the height of the kite
from the ground is :

100
(@ 5043 m b)) mZm

© 2m (d 25¥3 m
18, From a point P, two tangents PQ and PR are drawn to a circle with

tre at O. T is a point on the major arc QR of the circle. If
cen : |
Z QPR = 50°, then 2 QTR equals :

().

(b) 130°
00
(a) 5 (d) gQ°
(c) 65°
Page 11 ' P.T.(
smn NN —~ o~~~
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= - ’ F71 3%F &/
ﬁﬁmmmzomq?aa&wmﬁﬁm?aﬁrﬁﬁ%ﬂwmh
?mﬁaw?ﬁﬁw#aﬁmm qur z@8 @ 7 (R) &7

ﬁwﬁ%aﬁaﬁm&ﬁaw#ﬁm),(w,(c)w?f(d)#?ﬁmﬁﬁm’(A”ﬁw
{a)l W(A}aﬁiﬁ(mfﬁﬂﬁﬁaﬁ?ﬂ*(mm .
SRE Ul ¢ |
(b) v (A) 3R 7 (R) 3 &8,
e 7@t el @ |
(c) W(A)ﬁ%,ﬂﬂ*(fi)mgl
@ e (A) T 2, T @ (R) TR |

g T (R), sfyped (A) i T

19. 3 (A) - ﬁmﬁﬁ@ﬁﬂﬁﬂt,md@rwﬁﬁw
2
gé?ﬁ%|
7% (R) : T TR % Horhl T IWISY T 2, 3, 5 Bt @ |

20. AFYT(A): WEHR x2 + 4x H Q AATH LI 8 |
% (R) : g x2+ax(a#0) % IH 0 MM a ¥ |

RCLERC |

57 &S § 3ld TY-ITH (VSA) T#0 & 597 § o yodas & siwd

21. (%) ‘x’m’%mmwtﬁ%m=%g, -

- fagatt p,
ﬁfﬂﬂﬁm:(ﬁ,—l),(l,;;)aﬂ.{(x’g)%l Q3R R%
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r Assertion and Reason based questions carrying
LS are given, one labelled as Assertion (A) and the

(R). Select the correct answer to these questions fronm
as given below.

other is labelleg as Reason
the codes (a), (b) (c) and (d)
(a)  Both Assertion

. (A) and Reason (R) are true and Reason (R) is the
orrect explanation of the Assertion (A).

(b)  Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of the Assertion (A).

(c) ~ Assertion (A) s true, but Reason (R) is false.

(d)

Assertion (A) is false, but Reason (R) is true.

19.  Assertion (A): The probability of getting a prime number, when a die is

.2
thrown once, is —.

Reason (R):  On the faces of a die, prime numbers are 2, 3, 5.

20. Assertion (A): Polynomial x? +4x has two real zeroes.

Reason (R):  Zeroes of the polynomial x2 +ax(a # 0) are 0 and a.

SECTION B

This section comprises very short answer (VSA) type questions of 2 marks each.
is

Find the value(s) of X’ so that PQ = QR, where the coordinates of P, |

21. (a) ’
Q and R are (6, ~1), (1, 3) and (x, 8) respectively.
OR
() Th vertices of a triangle are (-2, 0), (2, 3) and (1, —-3). Is the
e

triangle equilateral, isosceles or scalene ?

~ Page 13 P.T.O.
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gs R a2+ p=40
922, « p feEW TR p(x)=x2—~8x+k %W%,ﬁﬂ%

2| k%! AH F@ HIT |

| &) ger e
aﬁﬁﬁmﬂﬁr&fﬁ&m%qﬁﬁ@@ﬁ,mﬂ&a‘ﬁww@
m%1mﬁmﬂ@wwﬁﬁmm% | faepreTt

SICATE A B ke i T |

_AB
-5

AL

94, @ T gt #, LM || CBIMLN || CD | fag ifere 16

95. (%) Iy UHEvS faftt 1 w@m Fh, TR 540 3 630 #1 HCF
Frd iR |

AT

(@) v fs fieh s e e w3 fo, (15)" 3% 0 W TR & @
qHa1 2 |

430/2/2 - Page 14
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| e

22, « B
| L
7€ the zeroeg of the quadra;
o2, B2 e . ratic polynomiy| p(x) = x2 — 8x + k, such that
= 4. Fmd the valye of k
23. From g W
ell-shy
Med deck of 52 playing cards, all diamond cards are
removed. N ;
OW, a card is drawn from the remaining pack at random. Find
the i1}
Probability that the selected card is a king.
24. In the given fi ' b
. given higure, LM || CB and LN || CD. Prove that AN AD
B
M
A . ¢
N

)  Find the HCF of the numbers 540 and 630, using prime
25. (a 1

factorization method.

OR

ith the digit 0 for any natural
Show that (15)" cannot end wi

(b)
number 10

Page 15 P. T- O.
-
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WoE N
5@ @U & 7y 3709 (SA) FHN & 97 &, i gw &3 ww R

26. (%) fag #ifam.

1-c0sb _ cosec 0 - cot 9y

1+cos0

g

(@) fag Hifae:

(1+ 1 w[1+ --—--1-—-— ] = - —5 ___1-_.___...——
L tan® A / cot? A sinZ A —sin® A

RIS px) = 3x2 + 5x - 28 ¥ Y1 7 FIFAU 3N 3@H TR AW LI F
= & ey H gogar 61 Ff9 difae |

27.
28, fag $ifaw & fag A1, 00, B3, 1. C2 203 D- 2, 1) v wHAR I
ABCD % ¥id & | &1 32 997 v qrgA ofi R 0

29. anéwﬁﬁ,wiﬁﬁmwwmmﬂm%:oaﬁﬁﬁm
q?ﬁﬁmmﬂcmﬁ'(ﬁcmit

430/2/2 > Page 16
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T -

SECTION C

This section ¢q ] ho ach
mprise rta mark
$s§ Nswer (SA) type questions of 3 marks e

26. (a) Prove that -

1-cos@
l+cos@ (cosec 6 - cot 6)2

OR
(b)  Prove that:

gl
tan® A cot2A) sin? A-sin® A

27. Find the zeroes of the polynomial p(x) = 3x2 + 5x — 28 and verify the

relationship between its coefficients and zeroes.

98. Prove that the points A(-1, 0), BG, 1), C(2, 2) and D(-2, 1) are the

vertices of a parallelogram ABCD. Is it also a rectangle ?

29. In the given figure, two concentric circles

of the circles are 2 cm and b cm respe

region.

page 17
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with centre O are shown. Radii
ctively. Find the area of the shaded



(e
30, fug iy 5 2 - 345 T o wen 2, R & 5
e R |

wF IR

31. (%) @@%m@mﬂmcnmﬁﬁmwmwa !
fag $fere f% AB + CD = AD + BC.

HAGAT

(@)  Fag Hifo & foreht 30 % gford wHat =gy, Th FeEgs it & |

g is ¥

39 Gug § -39 (LA) FR & ¥97 8, 79 539% &5 3% & |

32. R el P 1 T G W 3 D el W firnfe frgait w
mm%m@mwm,amm%maw@a
Frqra B favfora &1 Sl 8 |

430/2/2 Ny Wy N N Page 18
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e
). Prove that 2 - i
3V5 is an irrational number, given that 5 is an

Irrational number.

. (@) A i i
quadrilateral ABCD is drawn to circumscribe a circle, as shown

in the figure. Prove that AB + CD = AD + BC.

OR

(b)  Prove that the parallelogram circumscribing a circle is a rhombus.

SECTION D

This section comprises long answer (LA) type questions of 5 marks each.

If a line is drawn parallel to one side of a triangle to intersect the other

32..
two sides in distinct points, then prove that the other two sides are
divided in the same ratio.

430/2/2 o~~~ Page 19 P.T.O.
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(@)

88. (%) R Rt AP ¥ wum 793 1 AnTEA —21 W T 17 921 H1 AR

_2212, @ 36 AP, % yum o val 1 qea T HIFAC |

st
Q%aﬁﬁ?s,%owm,%émﬁ?ﬂﬁﬁ?%éﬂwgw

Rt Frva 1 oft 3 7 15 97 T 1 gfg e & | w0 9HE § R
THY T 2

34. Trafafiga sfwel &1 nrea 3 aess 3@ Hife

i |'85—90 90-951‘ 95 - 100 | 100 - 105 f 105-110  110-115
mimm]mlmjls:m 12 7
36. (¥) 60m 39 ¥a7 & Fr @ 3@ W @ T ¥ R ok a3
mmmﬂmwsmﬁmﬁuﬁi‘q’rgmﬁﬁmmaﬂt
W%aﬁaﬁqﬂ%ﬁmﬂﬁﬁm(\/ﬁ:lﬂazwmﬁrﬁq)
et
(a) W%@%A@,Ww%ﬁl@twmﬁmaoo%lwq%
WﬂaﬁtSOmWﬁﬁBﬁq@q{mm .
2 | a1 B Iy 46° 8 S
T 3 i A8 v & s oy a:ﬁ
aﬁ‘r&m(ﬁ:rmmmﬁﬁq) ke
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T+,

53- (a)

(b)

If the sum of the first 7 terms of an A.P. is — 21 and that of the first

17 terms is - 221, thep find the sum of its first ‘n’ terms.

OR

A man repays a loan of ¥ 3,250 by paying ¥ 20 in the first month
and then increases the payment by € 15 every month. How long

will it take to clear the loan ?

34. Find the mean and the median of the following data :

Class 85-90|90-95| 95 - 100 { 100 - 105 (105 -110|110-115
Frequency | 10 | 12 5 | 14 | 12 7
35. (a) From the top of a building 60 m high, the angles of depression of

(b)

430/2/2

the top and bottom of a tower are observed to be 30° and 60°
respectively. Find the height of the tower. Also, find the distance
between the building and the tower. (Use J3 =1-732)

OR

The angle of elevation of th-e top of a building from a point A on the
ground is 30°. On moving a distance of 30 m towards its base to the
point B, the angle of elevation changes to 45°. Find the height of
the building and the distance of its base from point A
(Use ¥3 =1-732)

~ Page 21
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wue ¥

ey * 8/
WW&;?MWWWW?WPE&EFI%JW?
Tl HEAA - <
17 cm x 4 cm [T F

36. fuF § v wwd w1 Raen fe@rn T @ | 14 em X s R A E
T GANTHR AR F1 eH & | T g |
fore & IR TES § | TAF e
QCmél

Falt 7 T
drge # Faré 3 em B

(iii) (@) Wm%mﬂﬁgm
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A wooden, toy Case Study - 1

. , t - .
dimensiong 14 cm he picture. This is a cuboidal wooden block of

x 17 ¢ :
hollows for bees to M X 4 em. On its top there are

it seven cylindrical
radius 9 o n. Each cylindrical hollow

15 of height 3 em and

Based on the above, answer the following questions :

(1) Find the volume of wood carved out to make one cylindrical hollow. I

(i)  Find the lateral surface area of the cuboid to paint it with green
colour. 11ttps:.f'.f'www.cbseboardonline.com 1

(i) (a) Find the volume of wood in the remaining cuboid after
carving out seven cylindrical hollows. 9

OR
rface of the cuboid to be
1 ce area of the top su
Gii) (b Find the surfa :
i W.

painted yello -

Page 23
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' y ' P AK AL

BT g o i g, g sff fra Ko w mh gL A8
G U G & a4 Aap w g oA b, A ofl NA A NB wph g ot
B wr awm adh k| agha w1 saesa A, s Py 3

ZANO =30"3 OA=6em 2

I % w7, Ffafem g % w0 A
(i) AN %I &mr #@ Fifo |

(i) £ AOB =1 91q 3114 #ifsw |

(i) (%) MNA,x’BWWAB*IFWW%
b % ]

AT
iy (@) 3R 2 ANO =45° & = Iy
i ) ’ 144 OANB 3 e
A9 T ey mrfe Fifu | R et
2
430/2/2 ~ '
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%

Cuse Htudy -y

371 {:jﬂ'h’-u
Aen play ap

Imix ¢
N portant, pup, I our life. When 4 circular ohijet is hung

0on Lhe W”ll ¢ * AT L L 18 N

with 5 :

b cord at, paj) N, the cords NA and NB work like
a a + -
tangents, ( dbrerve the

lgure, given that ~ AN = 20 and OA = 5 cm,

Based on the above, answer the following questions :

(i)  Find the distance AN. 1
(ii)  Find the measure of Z AOB. 1
(iiiy (a)  Find the total length of cords NA, NB and the chord AB. 2
OR
Gii) (b) IfZ ANO is 45°, then name the type of quadrilateral OANB.
Justify your answer. 2
1972 e~ Page 25 P.T.O.
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WHI0T AT 4 - 3

8. wha i o g £ pnfl @ gz ah § 08 A OF FAER T G
Faweht fysm o m R, 21 gAavEi § o1 1 30 % | O gAETE W F T 90°
F1 HIV afa Fa B, § o1l T F G o g0 &, Fafh A JAHUL, A
®2 T 60" H1 HI safra w1 &, 4 G 71 F 5 o § | (Faa 2fEv)
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Yel]ow ﬂf)wers

Red roses

It is given th i

231 at the combined area of the two segments ‘of flowers, is
256 = sqm.

3
Based on the above, answer the following questions :
(1) Wnte an equation representing the total area of the two segments

in terms of ‘r’, 1
(i1)  Find the value of ¢ 1
(11i) (a) Find the area of the segment with red roses. 2
OR

(ii1) (b)  Find the area of the segment with yellow flowers. 2
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